Potencias de 10 (I)

13+ 10°

8+10°

34+ 10°

14+103

21 =103

98 = 10°

63 +10°

11=103

82+ 10°

71+10°

Calcule los siguientes cocientes.

41 =103

82+10°

81 =103

7103

34+10°

82 +10°

59 +10°

16=10°

13=103

30+ 10°
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Potencias de 10 (I) Respuestas

13+10°
0.013
8+10°
0.008
34 +10°
0.034
14+ 10°
0.014
21+10°
0.021
98 ~10°
0.098
63+ 10
0.063
11+ 10°
0.011
82+ 103
0.082
71+103
0.071

Calcule los siguientes cocientes.

41 =103
0.041
82 +10°
0.082
81103
0.081
7+10°
0.007
34+10°
0.034
82 +10°
0.082
59 +10°
0.059
16+ 10°
0.016
13+10°
0.013
30+ 10°
0.03
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